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3HPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�PHUXSDNDQ� VDODK� VDWX�SURJUDP�SHPEHODMDUDQ�
\DQJ� GLNHPEDQJNDQ� GL� VHNRODK� XQWXN� PHQJHPEDQJNDQ� GLUL� VLVZD� GDODP� ELGDQJ�
NHWHUDPSLODQ� KLGXS�� GHQJDQ� DGDQ\D� SURJUDP� LQL� GLKDUDSNDQ� GDSDW� PHPSHUVLDSNDQ�
VLVZD�GDODP�NHKLGXSDQ�EHUPDV\DUDNDW�GDQ�PHQFLSWDNDQ�SHOXDQJ�NHUMD� VHWHODK� OXOXV�
VHNRODK�� 3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� JDPEDUDQ� XPXP� PHQJHQDL�
SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�PDVVDJH SDGD�DQDN�WXQDQHWUD�GL�6/%�
1HJHUL�&LWHXUHXS�GDUL�PXODL�SHUHQFDQDDQ��SHODNVDQDDQ��HYDOXDVL�VDPSDL�WLQGDN�ODQMXW�
GDUL� SURJUDP� SHPEHODMDUDQ� WHUVHEXW�� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� SHQGHNDWDQ�
NXDOLWDWLI� GHVNULSWLI� GHQJDQ� WHNQLN� SHQJXPSXODQ� GDWD� GDODP� EHQWXN� ZDZDQFDUD��
REVHUYDVL� GDQ� VWXGL� GRNXPHQWDVL�� +DVLO� GDUL� SHQHOLWLDQ� LQL� PHQXQMXNDQ� EDKZD�
SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�PDVVDJH�SDGD�DQDN� WXQDQHWUD�GL�6/%�1HJHUL�
&LWHXUHXS� LQL� PHPLOLNL� WXMXDQ� XQWXN� PHPEHULNDQ� EHNDO� NHWHUDPSLODQ� KLGXS� DJDU�
OXOXVDQ� VLVZD� WXQDQHWUD� GDSDW� PDQGLUL� GL GDODP� PDV\DUDNDW�� 3DGD� SHPEHODMDUDQ�
NHWHUDPSLODQ� YRNDVLRQDO� PDVVDJH LQL� PHQJJXQDNDQ� NXULNXOXP� ����� \DQJ� WHODK�
GLVHVXDLNDQ�� 6LVZD� GLEHULNDQ� SHPEHODMDUDQ� EHUXSD� WHNQLN�WHNQLN� PDVVDJH GDQ�
SHPEHODMDUDQ�SHPEHODMDUDQ� NHWHUDPSLODQ� PDVVDJH GDVDU��PDVVDJH ODQMXWDQ� �VHSHUWL�
VKLDWVX�� GDQ� PDVVDJH WHUDPSLO� DWDX� SHQJREDWDQ� �UHIOHNVL�� 3HQHOLWLDQ� LQL� MXJD�
PHQJKDVLONDQ� UHNRPHQGDVL� VHFDUD� XPXP� XQWXN� SURVHV� WLQGDN� ODQMXW� GDUL�
SHPEHODMDUDQ� EHUXSD� EHQWXN� NHUMDVDPD� VHFDUD� IRUPDO� DQWDUD� VHNRODK� GDQ� SLKDN�
OHPEDJD�DWDX�SHUXVDKDDQ�XQWXN�SHQ\DOXUDQ OXOXVDQ�VLVZDQ\D��VHKLQJJD�OXOXVDQ�VLVZD�
VHNRODK�WHUVHEXW�OHELK�WHUDUDK�GDODP�PHQGDSDWNDQ�SHOXDQJ�NHUMDQ\D�
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/HDUQLQJ� YRFDWLRQDO� VNLOOV� LV� RQH� RI� WKH� OHDUQLQJ� SURJUDPV� GHYHORSHG� LQ� VFKRROV� WR�
GHYHORS�VWXGHQWV�LQ�WKH�ILHOG�RI�OLIH�VNLOOV��ZLWK�WKLV�SURJUDP�LW�LV�H[SHFWHG�WR�SUHSDUH�
VWXGHQWV�IRU�VRFLDO�OLIH�DQG�FUHDWH�MRE�RSSRUWXQLWLHV�DIWHU�JUDGXDWLQJ�IURP�VFKRRO��7KLV�
VWXG\�DLPV�WR�ILQG�DQ�RYHUYLHZ�RI�WKH�YRFDWLRQDO�PDVVDJH�VNLOOV�OHDUQLQJ�SURJUDP�IRU�
FKLOGUHQ ZLWK� YLVXDO� LPSDLUPHQW LQ� 6/% 1HJHUL &LWHXUHXS�� VWDUWLQJ� IURP� SODQQLQJ��
LPSOHPHQWLQJ��HYDOXDWLQJ�WR�WKH�IROORZ�XS�RI�WKH�OHDUQLQJ�SURJUDP��7KLV�UHVHDUFK�XVHV�
D� GHVFULSWLYH� TXDOLWDWLYH� DSSURDFK� ZLWK� GDWD� FROOHFWLRQ� WHFKQLTXHV� LQ� WKH� IRUP� RI�
LQWHUYLHZV�� REVHUYDWLRQ� DQG� GRFXPHQWDWLRQ� VWXG\��7KH� UHVXOWV� RI� WKLV� VWXG\� LQGLFDWH�
WKDW� OHDUQLQJ� YRFDWLRQDO�PDVVDJH� VNLOOV� IRU� FKLOGUHQ ZLWK� YLVXDO� LPSDLUPHQW DW� 6/%�
1HJHUL�&LWHXUHXS�DLPV� WR�SURYLGH� OLIH�VNLOOV�VR� WKDW�FKLOGUHQ ZLWK�YLVXDO� LPSDLUPHQW
FDQ� EH� LQGHSHQGHQW� LQ� VRFLHW\�� ,Q� OHDUQLQJ� YRFDWLRQDO� PDVVDJH� VNLOOV�� WKH� �����
FXUULFXOXP� KDV� EHHQ� DGMXVWHG�� 6WXGHQWV� DUH� JLYHQ� OHDUQLQJ� LQ� WKH� IRUP� RI�PDVVDJH�
WHFKQLTXHV�DQG�OHDUQLQJ�EDVLF�PDVVDJH�VNLOOV��DGYDQFHG�PDVVDJH��VXFK�DV�VKLDWVX��DQG�
VNLOOHG� PDVVDJH� RU� WUHDWPHQW� �UHIOHFWLRQ��� 7KLV� VWXG\� DOVR� SURGXFHV� JHQHUDO�
UHFRPPHQGDWLRQV� IRU� WKH� IROORZ�XS� SURFHVV� RI� OHDUQLQJ� LQ� WKH� IRUP� RI� IRUPDO�
FROODERUDWLRQ� EHWZHHQ� VFKRROV� DQG� LQVWLWXWLRQV� RU� FRPSDQLHV� IRU� WKH� GLVWULEXWLRQ� RI�
VWXGHQW� JUDGXDWHV�� VR� WKDW� WKH� VFKRRO
V� JUDGXDWHV� DUH� PRUH� IRFXVHG� LQ� JHWWLQJ� MRE�
RSSRUWXQLWLHV�

.H\ZRUGV��OHDUQLQJ��YRFDWLRQDO�VNLOOV��PDVVDJH
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'DIWDU�3XWDND�

$GDGRNXQH�� 0DU\� 2OXIXQNH�� �������� 7KH� ,PSDFW� RI� /LWHUDF\� RQ� 9RFDWLRQDO� 6NLOOV�

$FTXLVLWLRQ� � IRU� %HWWHU� &RPPXQLW\� 3DUWLFLSDWLRQ�� ,QWHUQDWLRQDO� -RXUQDO� RI�

(GXFDWLRQ� 	� /LWHUDF\� 6WXGLHV�� ����� ����������� GRL��

��������DLDF�LMHOV�Y��Q��S���

'DQLHO�� +DOODKDQ� 3�	� .DXIIPDQ� 0�� -DPHV�� �������� ([FHSWLRQDO� /HDUQHUV� $Q�

,QWURGXFWLRQ�WR�6SHFLDO�(GXFDWLRQ� 8QLWHG�6WDWHV�RI�$PHULFD��3HDUVRQ�

+LOPDQ� .DPDOXGLQ� �UHSRUWHU�� 	� -DQQLVKD� 5RVPDQD� 'HZL� �HGLWRU��� �������� 6/%1�

&LWHXUHXS�%HNDOL�.HWHUDPSLODQ�.KXVXV�%DJL�3DUD�6LVZDQ\D�GHQJDQ�%HUEDJDL�

)DVLOLWDV� 0HQGXNXQJ�� >RQOLQH@�� 'LDNVHV� GDUL��

KWWSV���MDEDU�WULEXQQHZV�FRP������������VOEQ�FLWHXUHXS�EHNDOL�NHWHUDPSLODQ�

NKXVXV�EDJL�SDUD�VLVZDQ\D�GHQJDQ�EHUEDJDL�IDVLOLWDV�PHQGXNXQJ�� 'LDNVHV�

SDGD���1RYHPEHU�����

.HPHQWULDQ� 6RVLDO� 5HSXSOLN� ,QGRQHVLD�� �������� 3HGRPDQ� .HWHUDPSLODQ� 0DVVDJH�

3DQWL�6RVLDO�%LQD�1HWUD��-LOLG���

0HVLRQR�� �������� 'DODP� 7LQMDXDQ� (YDOXDVL� URJUDP�� (GXFDWRU�� -XUQDO� LOPX�

SHQGLGLNDQ�GDQ�.HSHQGLGLNDQ��������������������

0ROHRQJ��/��-����������0HWRGH 3HQHOLWLDQ�.XDOLWDWLI��%DQGXQJ��5HPDMD�5RVGD�.DU\D�

0XKDPPDG�5L]N\��-XUQDOLV�����������-HULW�+DWL�SHPLMDW�7XQDQHWUD��>RQOLQH@��'LDNVHV�

GDUL�� KWWSV���QDVLRQDO�RNH]RQH�FRP�DPS������������������������MHULW�KDWL�

SHPLMDW�WXQDQHWUD��'LDNVHV�SDGD����-XQL�����

6RPDQWUL��6����������3VLNRORJL�$QDN�/XDU�%LDVD��%DQGXQJ��37��5HILND�$GLWDPD

6XPDU\DQWL����������0DVVDJH�2ODKUDJD��'HSDUWHPHQ�SHQGLGLNDQ�1DVLRQDO�

6XJL\RQR�� �������� 0HWRGH� 3HQHOLWLDQ� NXDQWLWDWLI� .XDOLWDWLI� GDQ� 5	'�� %DQGXQJ��

$OIDEHWD

6XGMDQD��1DQD����������'DVDU�'DVDU�3URVHV�%HODMDU�0HQJDMDU��%DQGXQJ��6LQDU�%DUX�

$OJHVLQGR�
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6XGMDQD�� 1DQD�� �������� 0HWRGH� GDQ� 7HNQLN� 3HPEHODMDUDQ� 3DUWLVLSDVLI�� %DQGXQJ��

)DODK�3URGXFWLRQ�

6XPHNDU��*DQGD�� ��������$QDN�%HUNHEXWXKDQ�.KXVXV�&DUD�0HPEDQWX�0HUND�$JDU�

%HUKDVLO�'DODP�3HQGLGLNDQ�,QNOXVLI��3DGDQJ��813�3UHVV�

7KREURQL��0����������%HODMDU�GDQ�3HPEHODMDUDQ��7HRUL�GDQ�3UDNWHN��<RJ\DNDUWD��$U�

5X]]�0HGLD�

7LP� 3HQJHPEDQJ� 0.'3� .XULNXOXP GDQ� 3HPEHODMDUDQ�� .XULNXOXP� GDQ�

3HPEHODMDUDQ� %DQGXQJ�8QLYHUVLWDV�3HQGLGLNDQ�,QGRQHVLD

8QGDQJ� 8QGDQJ� 1RPRU� ��� 7DKXQ� ����� 7HQWDQJ� 6LVWHP� 3HQGLGLNDQ� 1DVLRQDO��

-DNDUWD��'HSGLNQDV


